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. " Five nations, including China and the US, reached a deal on a number of issues, such as a
recognition to limit temperature rises to less than 2C, at the recent Copenhagen Climate Summit.
Reducing carbon footprint is a must-do. For example, the UK government released the Climate
Change Bill committing the UK to an 80% reduction in carbon emissions by the year 2050.
Regarding the legislation on businesses and local authorities to cut carbon emissions, what aspects

should the Taiwan government consider? Please provide your expertise. You may answer in English
or Chinese. (30%)




